
CSc 372, 10/24/06; Quiz 9; Time: 4:00; Value: 2+1+1+1 points

class Line
    def initialize len; @len = len; end
    def len; @len; end
end

1. Write the additional code required to make the following work:

>> L1 = Line.new(3) => #<Line: @len=3>

>> L2 = Line.new(4) => #<Line: @len=4>

>> L3 = L1 + L2    => #<Line: @len=7>

>> L3.len          => 7

2. How many methods must a class provide to mixin Enumerable?

3. What is Tk?  (Ten words or less!)
4. According to whm, what is the most interesting thing about JRuby? 
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